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Note:	 The question paper is divided into three sections A, B and C. 

Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 2 = 20
(Very Short Answer Type Questions)

Note:	 Answer all questions. As per the nature of the question 

delimit your answer in one word, one sentence or 

maximum up to 30 words. Each question carries 2 marks.

	 (IÊS> - "A')
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 Labour

		  l{‘H$

	 (ii)	 Register

		  n§Or¶H$

	 (iii)	 Work committee

		  H$m¶© g{‘{V

	 (iv)	 Labour Court

		  l‘ Ý¶m¶b¶

	 (v)	 Lockout

		  Vmbm~§Xr

	 (vi)	 Industrial Relations

		  Am¡Úmo{JH$ gå~ÝY

	 (vii)	Strike

		  h‹S>Vmb

	 (viii)	Industry

		  CÚmoJ

	 (ix)	 Workers Participation

		  l{‘H$ gh^m{JVm

	 (x)	 Production

		  CËnmXZ
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	 Section - B	 4 × 10 = 40
(Short Answer Type Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 10 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&

2)	 Explain “Industries”.
	 ""CÚmoJm|'' H$mo g‘Pm¶o&

3)	 Explain Rights and Liability of trade unions.
	 ì¶dgm¶ g§K Ho$ A{YH$mam| d Xm{¶Ëdm| H$mo g‘Pm¶o&

4)	 Explain Lay-off and Retrenchment.
	 H$m‘-~§Xr d N>§Q>Zr Vmo g‘Pm¶o&

5)	 Explain “Labour”.
	 ""l{‘H$'' H$mo g‘Pm¶o&

6)	 Explain immunities of a Trade union.
	 ì¶dgm¶ g§K H$s CÝ‘w{º$¶m| H$mo g‘Pm¶o&

7)	 Explain Collective Bargaining.
	 gm‘y{hH$ gm¡Xo~mOr H$mo g‘Pm¶o&

8)	 Explain Workers’ Participation in Management.
	 l{‘H$m| H$s à~§YZ ‘| gh^m{JVm H$mo g‘Pm¶o&

9)	 Explain Standing Orders.

	 ñWmB© AmXoem| H$mo g‘Pm¶o&
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	 Section - C	 2 × 20 = 40

(Long Answer Type Questions)

Note:	 Answer any two questions. You have to delimit your each 

answer maximum up to 500 words. Each question carries 

20 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 20 A§H$m| H$m h¡& 

10)	 Explain the composition and characteristics of labour in India.

	 ^maV ‘| l{‘H$m| JR>Z Am¡a JwUm| H$mo g‘Pm¶o&

11)	 Explain  structure, objective and function of Central trade 

Union Organizations.

	 Ho$ÝÐr¶ l‘ g§JR>Zm| Ho$ ñdén, CÔoí¶ d H$m¶©àUmbr H$mo g‘Pm¶o&

12)	 What are the disputes settlement authorities for Industrial 

Disputes?

	 Am¡Úmo{JH$ {ddmXm| Ho$ {ZñVmaU hoVw {ddmX [ZdmaH$ A{YH$m[aAm| H$mo 
g‘Pm¶o&

13)	 Explain status of Industrial Relations in India.

	 ^maV ‘| Am¡Úmo{JH$ gå~ÝYm| H$s pñW{V H$mo g‘Pm¶o&


